Chapter 9

Business-Type Activities
Questions for Review and Discussion

  1.
Per GASB Statement No. 34, which establishes the new reporting model, governments may account for an activity in an enterprise fund as long as it charges fees to external users for goods and services. They are required to account for an activity in an enterprise fund if it satisfies any one of the following criteria:

· The activity is financed with revenue, as opposed to general obligation, debt.

· Laws or regulations require that the activity’s costs of providing services (including capital costs) be recovered by fees and charges rather than general purpose taxes or similar charges.

· The pricing policies of the activity establish fees and charges designed to recover its costs, including capital costs (such as depreciation or debt service).


Thus, if the golf course is financed by user fees, but does not satisfy any of the other criteria, then the government may, but is not required to, account for it in an enterprise fund.

  2.
Enterprise funds are accounted for on a full accrual basis. Thus, they are accounted for similarly to businesses. Governmental funds, by contrast, are accounted for on a modified accrual basis.


The arguments in favor of using the full accrual basis to account for enterprise funds include the following:

· The full accrual basis of accounting (i.e., a measurement focus upon all economic resources) captures all the resources and obligations, including capital assets and long-term obligations, associated with an activity. It thereby provides a more complete picture of the entity’s fiscal status and operating results.

· The measurement focus on all economic resources is more consistent with the GASB’s objectives that financial reporting should provide information to determine whether current-year revenues were sufficient to pay for current- year services and to assist users in assessing service efforts, costs and accomplishments.

· Full accrual accounting provides information on depreciation, which is an essential cost of operations.

· Business-type accounting facilitates comparisons with similar private enterprises.


Those against include the following:

· Two separate measurement focuses and bases for accounting within the same set of financial statements are confusing and limit the usefulness of entity-wide consolidated statements that purport to present an overview of the entity as an economic whole.

· There are no clear-cut distinctions between business and non-business activities. Despite many similarities, government activities can not — and should not — be compared to activities carried out in the private sector. A government should have sound political and economic reasons — other than merely earning a profit — for conducting a particular activity in the public sector. If it does not, then it should be privatized. These reasons, by themselves, suggest that the activities should be assessed by criteria other than profits — the “bottom line” of business-type financial reports.

It can be noted that insofar as the full accrual basis is superior to the modified accrual basis, then arguably it  should be used to account for all government activities, not merely the business-type activities. Indeed, each of the arguments cited above can be applied to governmental as well as enterprise funds.

  3.
No. A government does not have to adhere to all pronouncements of the FASB. It never has to adhere to a FASB pronouncement that conflicts with, contradicts or has been replaced by, a GASB pronouncement. It must, however, apply all pronouncements issued prior to November 30, 1989 (except those that conflict with, contradict or have been replaced by, a GASB pronouncement). For pronouncements issued after that date a government has a choice. It can either adopt all post-1989 FASB pronouncements or none of them.  In accounting for its internal service funds it does not have the same option.  It must apply all pronouncements issued prior to November 30, 1989 but only those post 1989 FASB pronouncements that the GASB has specifically endorsed.  
  4.
First, the statement of cash flows must be prepared using the direct method. Governments, unlike businesses, cannot use the indirect method. Second, the statement of cash flows must classify transactions in four categories rather than the three required of businesses. These are:

· Cash flows from operating activities,

· Cash flows from noncapital financing activities,

· Cash flows from capital and related financing activities, and

· Cash flows from investing activities.

In addition, interest expense is found in the “cash flows from capital and related financing activities” or the “non capital financing activities” section of a government but under “operating activities” in a private business.
  5.
If the government accounts for the landfill in an enterprise fund, then it will base the reported expense (and addition to the liability) on the proportion of the landfill used during the year. The reported expense would be the total amount that should have been recognized as an expense (added to the liability) up to the date of computation, less the amount that has actually been recognized so far.


In a governmental fund, by contrast, the reported expenditure would be only that portion of cost requiring the use of currently available financial resources. The balance of any cost would be reported as a liability on the government-wide statements, which are on a full accrual basis, and the schedule of long-term obligations.

  6.
Internal service funds are used to account for governmental units or departments that provide goods or services to other departments or agencies on a cost reimbursement basis. Examples of activities accounted for in an internal service fund include data processing services, supplies stores, vehicle repair services, and self-insurance. A government may also account for those services in its general fund. There are no requirements that specific activities be accounted for in an internal service fund.

  7.
Internal service funds are expected to establish their billing rates to assure that their costs are fully reimbursed. Insofar as there are no generally accepted principles of “cost”, then the revenues may not be “objective.” Because the revenues of the internal service fund are also the expenditures of the general fund, then the expenditures of the general fund would also not be objective.

  8.
The essence of insurance is the transfer of risk to an independent party. When a government “self-insures” it does not insure. It accepts the risk itself. Even if the government accounts for its self-insurance in an internal service fund, the government as a whole is ultimately responsible for any losses.  Any payments from the general fund to the internal service fund are, in effect, internal transfers rather than expenditures.  From the perspective of the government as a whole,  the only “true” expenditures, are those incurred when a loss is incurred and the government has to pay the claim.

  9.
If the government accounts for its self-insurance in an internal service fund, then the premium revenue can be based on actuarial estimates and can include a provision for catastrophes. If, however, it accounts for its self-insurance in a governmental fund, then the premium revenue must be limited to actual claims expenditures. Any charges in addition to actual claims expenditures must be recognized as an operating transfer.

10.
You would want to take into account both operational and economic data. Examples include operational data regarding physical plant, occupancy rates, and fees and economic data on the community that the facility serves.

11.
In government-wide statements, enterprise funds are classified as business-type activities, whereas internal service funds are classified as governmental funds. That is, any of the assets and liabilities of the internal service funds that are not eliminated in the consolidation process are included in the column for governmental activities. Moreover, the expenses of internal service funds are “charged-back” to the funds to which the internal service funds provided services. The rationale for the difference is that internal service funds provide services mainly to governmental funds, whereas proprietary funds provide services mainly to parties external to the government.  However, if an internal service fund provides services mainly to enterprise funds, then the balances that are not eliminated in the consolidation process should be reported as business-type activities.
12.
In the proprietary fund statements of net assets and revenues, expenses and changes in net assets, major enterprise funds are presented under the heading “business-type activities” and a total of the funds is presented. By contrast, internal service funds are combined into a single column and presented under the heading “governmental activities.”

13.
The most common restrictions to which proprietary funds are subject arise from revenue bond covenants. These may require that the government use bond proceeds for specific projects or that it set aside resources to service the bonds. Insofar as the restricted assets are offset by liabilities, they need not also be offset by a designation of net assets as restricted. Thus, for example, if a government has unspent bond proceeds that must be used for a specific purpose, these resources would be offset by “bonds payable.” They should not also be offset by an additional restriction of net assets. To do so, would, in effect, be offsetting the restricted resources twice.
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EX 9-3

a.
Journal entries

(1)
Equipment
$ 70,000

Nonreciprocal transfer-in

$ 70,000

To record the initial contribution of equipment
(2)

Cash
$ 35,000

Nonreciprocal transfer-in

$ 35,000

To record the initial contribution of cash
(3)

Cash
$270,000

Notes payable

$270,000

To record borrowings from bank
(4)

Equipment
$160,000

Improvement to facilities (asset)
 100,000

Cash

$260,000

To record purchase of equipment and improvements to facilities
(5)

Cash
$  2,500

Due from other funds
   2,500

Revenues from billings

$5,000

To record billings to county clerk’s office
(6)

Operating expenses
$  9,000

Cash

$  9,000

To record operating expenses

(7)

Depreciation expense
$  2,400

Accumulated depreciation—equipment

$1,500

Accumulated depreciation—improvements to facilities

   900

To recognize depreciation on equipment and improvements
b.
Whereas the equipment and facilities were not previously reported in a particular fund (only in the government-wide statements and the schedule of capital assets), they would now be reported in the internal service fund. Similarly, the long-term note would also be reported in the internal service fund itself.
EX 9-4

a.
Journal entries (in an enterprise fund)

(1)

Buses
$10,000,000

Revenue bonds payable

$10,000,000

To record the issuance of the revenue bonds
(2)

Restricted assets—revenue bond 
repair contingency account
$   100,000

Cash

$   100,000

To set aside resources restricted for repair

Net assets—unrestricted
$   100,000

Net assets—restricted

$   100,000

To record the restriction of net assets
(3)

Interest expense
$   600,000

Accrued interest payable

$   600,000

To record interest expense and the related liability
(4)

Repair expense
$    50,000

Restricted assets—revenue bond
repair contingency account

$    50,000

To record repair expenses
Net assets—restricted
$    50,000

Net assets—unrestricted

$    50,000

To reduce the restriction for repairs (Note that repair expense will be closed to net assets—unrestricted.)
b.
If the bus system were reported in the general fund, then the restricted assets — those set aside for repairs — would have to be accounted for in a restricted fund, such as a special revenue fund (or reported in the general fund, but offset by a fund balance reserve).

EX 9-5

Billings to police and fire departments. The amounts charged to the police and fire departments by the internal service fund would be reported as expenses of the public safety function (a governmental activity). The activities of internal service fund are considered governmental for purposes of government-wide reporting and therefore would be consolidated with the other governmental activities. The internal service fund’s revenues and expenses of providing the services would be eliminated in the consolidation process and thus not reported. The net expenses for public safety would be shown in the column for governmental activities.

Billings to water utility department. These would be reported as revenues of the general government function (a governmental-type activity) and an expense of the water utility function (a business-type activity). This is because governmental and business activities are reported in separate columns in the government-wide statements and hence the offsetting revenues and expenses are not eliminated in the consolidation process.

Year-end receivable from police and fire departments. Neither the receivable nor the payable would be reported. They would be eliminated in the consolidation process.

Year-end receivable from water utility department. The receivable would be shown as an asset in the column for governmental-type activities; the payable as a liability in the column for business-type activities. Neither, however, would be reported in the totals column.

Net assets other than receivables from other departments. The assets and liabilities would be reported in the column for governmental activities (assuming that the internal service fund provides services mainly to governmental-type activities).

EX 9-6

Cash flows from operating activities

Collections (for services) from other funds
$ 6,380

Wages and salaries paid
 (3,470)

Purchases of supplies
  (1,650)


   1,260

Cash flows from noncapital financing activities

Nonreciprocal transfers-in—advances from other funds
    600

Nonreciprocal transfers-out—repayment of

 advances from other funds
  (  880)


  (  280)
Cash flows from capital and related financing activities

Proceeds of revenue bonds
    800

Proceeds from sale of capital assets
     23

Purchase of capital assets
 (  900)

Interest paid on long-term debt
   (  150)


  (  227)
Cash flows from investing activities

Proceeds from sale of investments
     33

Interest from investments
     45

Purchases of investments
   (  440)


  (  362)
Net increase in cash
    391

Cash on hand at beginning of year
     122
Cash on hand at end of year
$   513
EX 9-7

The utility funds of City A and City B would make the following entry:

Insurance expense
$1,000,000

Cash

$1,000,000

To record insurance expense
The utility fund of City C — the city which accounts for its insurance activities in its general fund — would recognize as an expense only the proportion of the premium representing actual claims — that is, 80 percent ($8 million divided by $10 million) of the $1 million. The rationale is that whereas the other two cities transfer risk either to an independent company or to a separate, quasi-independent entity, City C retains the risks itself. The $200,000 that is not recognized as an expense would be accounted for as a nonreciprocal transfer. Thus:

Insurance expense
$  800,000

Nonreciprocal transfer-out (to general fund)
   200,000

Cash

$1,000,000

To record insurance expense and nonreciprocal transfer
EX 9-8


2007
2008
2009
2010
Percentage of landfill used to date
Cumulative total used
    4
    6
    8
  12
Estimated expected capacity
  10
  10
  12
  12
Percentage used
  40%
  60%
  67%
100%

Total estimated costs
$  8
$  9
$10
$10
Amount that should have been added to the 
liability to date (cumulative expense) — 
percentage used times total estimated costs
$3.2
$5.4
$6.7
$10.0

Sum of amounts recognized in previous years
$0.0
$3.2
$5.4
$  6.7
Amount to be recognized in current year
$3.2
$2.2
$1.3
$  3.3
Problems

Continuing Problem
1.
Austin maintains internal service funds for capital projects management, combined transportation, emergency and communication center fund (CTECC); employee benefits, fleet maintenance, information systems; liability reserve, support services, wireless communication and workers’ compensation. (pp. 174-177) It maintains major enterprise funds for electric services, water and wastewater, and the airport. (p. 24)  It maintains non-major enterprise funds for the Austin Women’s Hospital; convention center, drainage, golf, a hospital, parks and recreation, primary care, solid waste services, and  transportation. (pp. 162-165).   Each of the activities accounted for in the internal service funds could also have been accounted for in the general fund (and, in fact, in many cities are accounted for in a general fund).

2.
In the government-wide statement of net assets, the internal service fund assets and liabilities are consolidated with the assets and liabilities of the governmental funds. They are not displayed separately. (pp. 16-17) In the proprietary funds statement of net assets, the assets and liabilities of all the internal service funds are combined into a single column, presented to the right of the totals column. (pp. 24-27)

3.
Per the internal service funds combining statement of revenues, expenses and changes in fund net assets, the CTECC reported a gain of $849,000 (pp. 178-179).   Per the combining statement of net assets, the employee benefits fund had net assets of $19.3  million ($27.4 in assets and only $8.1 million in liabilities). (pp. 176-177)

4.
Per the Proprietary Funds Statement of Revenues, Expenses and Changes in Fund Net Assets, the electric fund reported income before contributions and transfers of $184.3 million. (p. 28) Of that, $79.1 million was transferred out. Note 12 suggests that the general fund was the predominant beneficiary of the transfers. (pp. 85-86)  The convention center reported a loss of $27.2 million, and the primary care fund reported a loss of $26 million. The other enterprise funds reported losses, except for the Drainage, Hospital, and Parks and Recreation funds which reported $13.7 million, $0.6 million, and $0.05 million in profits, respectively.  (pp. 166-167)

5.
Per Note 10 Austin has outstanding bonds of $523.5 million for electric services, $930.9 million for water and wastewater, $369.9 million for the airport and $238 million for the convention center. (pp. 73-76) 

6.
The financial statements include the required statement of cash flows. The cash flows are divided into four categories: operating activities; noncapital financing activities; capital and related financing activities; investing activities. It is prepared on a direct basis. (p. 30-35)
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a.

(1)

Cash—restricted for purchase of equipment
$6,000,000

Bonds Payable

$6,000,000

To record the issuance of revenue bonds (Assuming that the bond proceeds are legally restricted for the purchase of equipment)
(2)

Plant and equipment
$4,500,000

Cash—restricted for purchase of equipment

$4,500,000

To record the purchase of plant and equipment
(3)

Plant and equipment
$  500,000

Cash—restricted for purchase of equipment

$  500,000

To record the purchase of plant and equipment
(4)

Cash
$1,500,000

Accounts receivable
   300,000

Sales of water

$1,800,000

To record the sale of water
(5a)

Plant and equipment
$  140,000

Cash

$  140,000

To record the cost of hook-ups for which tap fees were charged
(5b)

Cash
$  200,000

Tap fees – operating revenue

$ 140,000

Tap fees – capital contribution

60,000

To record the collection of tap fees 

(6)

Purchases of water
$  850,000

Labor and contract services
   320,000

Interest expense
    80,000

Supplies and miscellaneous expenses
    60,000

Cash

$1,310,000

To record operating expenses
(7)

Depreciation expense
$  350,000

Accumulated depreciation

$  350,000

To record depreciation
b.

Green Hills Water District

Statement of Revenues, Expenses and Changes in Net Assets
as of December 31
Operating revenues
Sales of water
$1,800,000
Tap fees
        140,000
   Total operating revenues
     1,940,000
Expenses
Purchases of water
   850,000

Depreciation
  350,000

Labor and contract services
   320,000

Interest
    80,000

Supplies and miscellaneous expenses
        60,000
   Total expenses
  1,660,000
   Net operating income
   280,000

Nonoperating revenues 

Capital contributions from tap fees
     60,000
     Total income
340,000

Net assets, January 1
                0

Net assets, December 31
$   340,000
c.

Statement of Net Assets 
As of December 31
Assets
Current assets
Cash

$   250,000

Accounts receivable
     300,000
   Total current assets
     550,000
Noncurrent assets

Cash—restricted for purchase of equipment
  1,000,000
Plant and equipment
 5,140,000

Less: Accumulated depreciation
     350,000
Net capital assets
  4,790,000
    Total noncurrent assets
  5,790,000


Total assets
  6,340,000
Liabilities
Bonds payable
  6,000,000
Net assets

Invested in capital assets, net of bonds payable
(1,210,000)

Restricted for purchase of equipment
1,000,000

Unrestricted
  550,000

   Total net assets
$   340,000
d.
The differences include the following (in fund statements):

· The capital assets and long-term debts would have been reported only in supplementary schedules — not on the balance sheet itself.

· The bond proceeds would have been reported in a capital projects fund.

· The capital assets would not have been depreciated.

· The accounting would have been on a modified, rather than a full, accrual basis.
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1.
Entries in internal service fund
(a)

Expense—claims
$1.5

Cash

$1.3

Claims liability

 0.2

To record losses incurred and claims paid

(b)

Cash
$2.0

Revenues—insurance premiums

$2.0

To record premium revenue
2.
Entries in general fund
(a)

Expenditure—claims
$1.5

Cash

$1.3

Claims liability

 0.2

To record losses incurred and claims paid

(b)

Cash
$0.8

Interfund reimbursements—insurance premiums

$0.6

Nonreciprocal transfer-in from utility fund

 0.2

To record premium revenue and a transfer-in from utility fund
The general fund can recognize as premiums from all departments combined no more than the actual losses incurred — $1.5 million. Inasmuch as the utility fund paid 40 percent of the premiums ($0.8 million of $2.0 million) the maximum that it can be billed for premiums is 40 percent of $1.5 million — $0.6 million. Viewed from a slightly different perspective, of the $2.0 million that the general fund billed to other funds, only 75 percent ($1.5 million) was for actual losses. Therefore, only 75 percent of the $0.8 million billed to the utility fund — $0.6 million — can be recognized as premium reimbursements (a reduction of expenditures) by the general fund. The $0.2 million excess of the $0.8 million billed to the utility fund over the $0.6 million that can be recognized as a reimbursement must be reported as an interfund transfer.

3.
If the self-insurance were accounted for in an internal service fund, then the general fund would report a premium expenditure of $1.2 million — the amount of premiums for which it were billed. If, by contrast, the self-insurance were accounted for in the general fund, then the general fund would report a net expenditure of $0.9 million (the actual losses of $1.5 million less the premiums from the utility fund of $0.6)


If the self-insurance were accounted for in an internal service fund, the utility fund would report a premium expense of $0.8 million — the actual amount paid. If by contrast, the self-insurance were accounted for in the general fund then it would report an expense of only $0.6 million — its share of the actual losses.


The actual losses incurred by the government as a whole were only $1.5 million. Since the government as a whole did not transfer its risk, that would appear to be the net expenditure to be reported. In explaining why it permits governments to account for self-insurance in an internal service fund — an option that results in the recognition of combined general fund and utility fund expenditures of $2 million — the GASB writes:

The Board believes the option is justified ... by the fact that internal service funds take on some characteristics of third-party insurers. For example, internal service funds provide for periodic transfers of cash so that assets are accumulated and earmarked specifically to pay for claims. Also, use of internal service funds may result in a pooling of risk among funds. Because this Statement requires measurement of the internal service fund liability in accordance with the provisions of FASB Statement 5, the financial statement user will be able to readily assess the financial effect of using these actuarial procedures by reviewing the internal service fund designation for future catastrophe losses and net equity. (Source: Statement No. 10’s Basis for Conclusions, Paragraph 115.)


To be sure, when the self-insurance is accounted for in the general fund rather than an internal service fund, there is less transfer of risk for the departments that are accounted for in the general fund. Accordingly, different reported expenditures can be justified. However, for the utility fund, there is the same transfer of risk irrespective of whether the insurance is accounted for in the internal service fund or the general fund. Hence, it is difficult to see why the utility fund should report a different expense.
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1.
Internal service fund
a.
Billings to other departments (revenues): $19 million (as stated)

b.
Cost of supplies: $3 million (the amount of supplies used; internal service funds must account for supplies on a consumption basis, as do businesses)

c.
Expenses relating to equipment: $3 million (depreciation)

d.
Other operating costs: $13 million (as stated)

e.
Equipment (asset): $24 million (initial cost)

f.
Accumulated depreciation: $3 million (depreciation of first year)

g.
Inventory (asset): $1 million (purchases of $4 million less supplies used of $3 million)

h.
Notes payable: $24 million (as stated)

i.
Reserve for inventory: $0 (internal service funds do not have to report a reserve for inventory)


General Fund
a.
Billings to other departments (revenues): $0 (The accounts of each department would be “consolidated”; for purposes of external reporting the revenues of the repair shop and the expenditures of the departments served would net-out.)

b.
Cost of supplies: $4 million (the amount of supplies purchased)

c.
Expenses relating to equipment: $24 million (the cost of acquiring the equipment; this amount would be offset by “proceeds from issuance of notes”)

d.
Other operating costs: $13 million (as stated)

e.
Equipment (asset): $0 (the equipment would be reported in a supplementary schedule)

f.
Accumulated depreciation: $0 (depreciation would not be charged)

g.
Inventory (asset): $1 million (purchases of $4 million less supplies used of $3 million)

h.
Notes payable: $0 (the long-term note would be reported in the general long-term debt account group)

i.
Reserve for inventory: $1 million (an amount equal to the year-end inventory balance)

2.
If the school district selected the first option, then total internal service fund expenses would be (in millions):

Depreciation
$  3

Cost of inventory used
  3

Other operating expenses
  13
        Total expenses
$19
3.
If the school district selected the first option and established the internal service fund, then total expenditures in the general fund would be the amounts billed to its departments by the internal service fund — $19 million. If it selected the second option and accounted for the repair activities in the general fund, then total expenditures would be (in millions):

Acquisition of equipment
$24

Purchases of inventory
  4

Other operating costs
  13
      Total costs
$41

Of these costs $24 million would be offset by proceeds from issuing notes.

4.
In the district’s government-wide statements it would not matter in which fund the shop was accounted for. The expenses would be the same as those reported in an internal service fund (those indicated in part b). That is, the accounting would be on a full accrual basis. The fund would report no revenues, inasmuch as no revenues were collected from the perspective of the government as a whole.
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1.
Internal service fund
a.

Cash
$  300,000

Nonreciprocal transfer-in—general fund

$  300,000

To record the transfer from the general fund
b.

Equipment
$  300,000

Cash

$  300,000

To record the acquisition of the equipment

c.

Operating expenses
$1,600,000

Cash

$1,600,000

To record the operating expenses
Depreciation expense
$   60,000

Accumulated depreciation

$   60,000

To record depreciation on the newly acquired assets
d.

Cash
$1,660,000

Audit revenues

$1,660,000

To record the audit revenues (in a amount equal to total expenses)

2.
General Fund
Nonreciprocal transfers-out
$  300,000

Cash

$  300,000

To record the transfer to the internal service fund
Audit expenditures
$1,660,000

Cash

$1,660,000

To record the audit expenditures
3.
The establishment of the internal service fund would have no impact on cash flows of the city at-large. Total outflows would be $1,900,000 (operating costs plus cost of equipment). Reported expenditures of the general fund, however, would be reduced from $1,900,000 (operating expenditures of $1,600,000 plus the equipment expenditures of $300,000) to $1,660,000 (the billings from the internal service fund).

4.
In the following year, if an internal service fund had been established, its expenses would remain at $1,660,000. Hence the billings from the fund, and the expenditures of the general fund, would also remain constant. However, if the fund were not established, then general fund expenditures would decrease to $1,600,000 (the operating costs).

9-5

1.
Support services might include purchasing, payroll and other accounting services, auditing services, legal services, computer support, and equipment maintenance.

2.
The deficit in unrestricted net assets indicates that the fund’s expenses have exceeded its revenues. Inasmuch as internal service funds are supposed to be operated on a cost-reimbursement basis, the deficit suggests that the fund has not set its rates sufficiently high to recover all its costs.

3.
The internal service fund’s operating loss of $12 million indicates that the general fund departments are not paying the full cost of the services provided by the internal service fund. In effect, general fund costs are being absorbed by the internal service fund.

4.
Unless it is clear that the mismatch of costs and revenues is only a temporary phenomenon, the independent auditor should recommend that the city consider an increase in billing rates, so that over time the fund’s costs are fully reimbursed.

5.
In the government-wide statements, the revenues of the internal service fund would be eliminated. The expenses would be reported as “governmental” expenses. The expenditures of the general fund (i.e., the purchases from the internal service fund) would also be eliminated. Thus, the expenses would reflect the actual costs of the services provided.

6.
If the city accounted for the support services in its general fund instead of an internal service fund:

a.
The general fund’s operating deficit would have increased by $12 million—the internal service fund’s operating deficit, or the $32 million it would have reported in expenditures for supplies less the $20 million it actually reported as expenditures for payments to the internal service fund.  In addition, it would not have transferred $9 million to the internal service fund.  Therefore, its net change in fund balance would have been $3 million less than reported (i.e. $0).  

b.
Depreciation expense would not be reported as a general fund expenditure.

c.
Property, plant, and equipment would not be reported as assets; bonds payable would not be reported as liabilities.
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1.
Billings on an annual basis

a.
Cost per hour of service

Fixed cost
$  400,000

Variable costs (20,000 hours @ $30)
  600,000
Total costs
$1,000,000

Number of hours
(  20,000
Cost per hour
$         50
b.
Billings

Golf course (2,400 hours @ $50)
$  120,000

General fund (17,600 hours @ $50)
  880,000
      Total billings
$1,000,000
2.
Billings on a monthly basis

a.
Cost per hour of service, busy months

Fixed cost (400,000 / 12 months)
$  33,333

Variable costs (1,800 hours @ $30)
    54,000
Total costs
$  87,333

Number of hours
(    1,800
Cost per hour
$48.5185
b.
Cost per hour of service, slack months

Fixed cost
$  33,333

Variable costs (1,400 hours @ $30)
    42,000
Total costs
$  75,333

Number of hours
(    1,400
Cost per hour
$53.8093
c.
Billings

Golf course, all slack months

    (2,400 hours @ $53.8093)

$  129,142
General fund

    Slack months (4 months x 800* hours @ $53.8093)
$172,170
    Busy months (8 months x 1,800 hours @ $48.5185)
  698,667
  870,856
      Total billings

$999,998
*1,400 hours worked during slack months - 600 hours of service requested by the enterprise fund

3.
The manager of the golf course might argue that both policies are unfair because the golf course takes its service during the slack season, when the capacity of the maintenance department would otherwise go unused. Therefore, it is paying a disproportionate share of the fixed costs required to maintain the capacity. The injustice is especially egregious when billings are determined on a monthly basis, causing the golf course to be billed at even higher rates. The manager might contend that his department should be billed either only for the variable costs or some smaller share of the fixed costs.

4.
The choice of policy would affect the distribution of costs among the general taxpayers and the users of the golf course. Insofar as the golf course is billed at the higher rate, then golf course fees would be greater and general revenue sources, such as property and sales taxes, could be less.
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1.


Statement of Activities

Governmental
Business-type

   Activities    
   Activities    
Total

Revenues
$244
$64
$308

Expenses
  236
  60
  296
      Excess of revenues over expenses
$   8
$  4
$  12
The governmental activities include the revenues and expenses of both the general fund and the internal service fund.  However, $12 of the general fund expenditures (those to the internal service fund) must be eliminated against $12 of the revenues (from other funds) of the internal service fund.  That leaves $4 of internal service fund revenues and hence total governmental fund revenues are $244 ($240 + $4).   It also leaves only $236 of governmental activity expenses ($220 to outsiders from the general fund and $16 to outsiders from the internal service fund).


Statement of Net Assets


Governmental
Business-type

   Activities    
   Activities     
Total

Assets
$349
$220
$569

Liabilities
  184
  180
  364
Internal balances – 

     Receivables from utility fund

       /payable to internal service fund
      1
     (1)
      0
    Net assets
$166
$  39
$205
Both the assets and the liabilities of the governmental activities exclude the $4 general fund payable to the internal service fund and the $4 internal service fund receivable from the general fund.  By contrast, the governmental activities include the $1 receivable of the internal service fund from the utility fund ($5 less the $4 from the general fund) and the $1 payable from the utility fund to the internal service fund.  These are shown on a separate line, “internal balances.”

2.
The rationale provided by GASB (para. 59 of Statement No. 34) is that to eliminate the effect of interfund services between functions (for example, the sale of water or electricity from a utility to the general government) “would misstate both the expenses of the purchasing function and the program revenues of the selling function.”

As a consequence, in this example the revenues and expenses of both the governmental and proprietary activities are properly stated, although from the perspective of the government as a whole, both total revenues and total expenses are overstated by $4.  Correspondingly, on the balance sheet the interfund balances between the governmental activities and the business-type activities and reported in their appropriate columns but netted against each other in the totals column.  Hence, the balances of both the two types of activities as well as the receivables and payables of the government as a whole are properly stated.
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1.
Government-wide statement of net assets and statement of activities
a.
The $400,000 charged to the governmental funds and the $100,000 charged to proprietary funds would be reported as expenses of (purchases of services by) the functions which received the services of the telecommunications department. The revenues and expenses of the internal service department would not be reported; to avoid double counting, they would be eliminated.

b.
The year-end receivables and payable would be eliminated in the “total” column of the government-wide balance sheet. However, the $10,000 that the proprietary funds owe the internal service fund (accounted for as a governmental-type activity in the government-wide financial statements) must be shown as a payable in the business-type activity column and a receivable in the governmental-activity column.

2.
Individual funds
a.
In the individual fund statements, the billings of the internal service fund would be reported as revenues of the internal service funds and as expenses or expenditures of the funds receiving the services. The internal service fund would be classified as a proprietary fund, and on the balance sheet of the proprietary funds it would be presented to the right of the totals column for enterprise funds.

b.
In the individual fund statements, each fund would report a payable to the internal service fund, and the internal service fund would report a receivable from the individual funds.

3.
Internal service funds are proprietary funds in that they are operated as businesses (e.g., they charge for services). However, they provide most of their services to departments accounted for in governmental funds. If the services were performed by the departments themselves, the assets required to perform them would be accounted for in the governmental funds. Therefore, it is appropriate to classify the internal service fund assets as governmental assets.
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1.
Amount needed in trust fund in 2031 for monitoring costs:



$10,000 x PV of an annuity of $1 for 30 years @ 5%



$10,000 x 15.3725  =  $153,725


It would need $300,000 for the closing costs.

2.
Amount of annual contribution:

Total required for monitoring per above
$153,725

Total required for closing per above
  300,000
      Total required in trust fund in 2031
$453,725


$453,725 = X(Future value of $1 for 25 years @ 5%)



X = $453,725/47.727 1



X = $9,506

3.
Amount of reported expense (assuming no changes in initial estimates and that use of landfill is even over the 25 years of use):

Total required for monitoring costs ($10,000 for 30 years)
$300,000

Total required for closing
  300,000
      Total required in trust fund in 2031
$600,000



$600,000/25 years = $24,000

4.
The government would have to report an expense of $24,000, but would have to contribute only $9,506 — an apparent overstatement of expense. To some extent, the overstatement would be mitigated by the impact of inflation. However, the rate of inflation would rarely, if ever, be as great as an appropriate discount rate.


In Statement No. 18, Accounting for Municipal Solid Waste Landfill Closure and Post closure Care Costs, the Board gave the following explanation as to why it did not require the costs to be discounted:

Before issuing the ED (Exposure Draft), the Board considered the use of discounting in determining estimated total cost and concluded that it should not be used. Some ED respondents suggested that discounting should be permitted, although not required. However, Board members confirmed their initial support for the use of current cost rather than discounting. For example, Board members note that, by basing the initial estimate on current cost and increasing each year’s estimate for the effect of inflation, the annual charge is effectively being discounted at the inflation rate. Some Board members believe that discounting at a rate greater than the inflation rate, such as the entity’s borrowing rate, would result in a disproportionately low allocation to earlier periods of MSWLF (Municipal Solid Waste Landfill) life.
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1.
2008
Total estimated costs
$10,000,000

Proportion of landfill used (300,000/6,000, 000)
               .05
Required expense (addition to liability)
$     500,000
Journal Entry

Landfill expense
$  500,000

Liability for landfill costs

$  500,000

To record the landfill liability and expenditure for 2008
2.
2009
Total estimated costs
$10,200,000

Proportion of landfill used to date (300,000 + 300,000)/5,800, 000
       .103448
Amount that should have been added to 
the liability to date (cumulative expense)
  1,055,170

Amount recognized previously
       500,000
Required expense (addition to liability)
$     555,170
Journal Entry

Landfill expense
$555,170

Liability for landfill costs

$555,170

To record the landfill liability and expenditure for 2009
3.
2027
Total estimated costs
$15,000,000

Proportion of landfill used to date (4,650,000 + 350,000)/5,000, 000
               1.0

Amount that should have been added to the
liability to date (cumulative expense)
  15,000,000

Amount recognized previously
  14,200,000
Required expense (addition to liability)
$     800,000
Journal Entries

Landfill expense
$  800,000

Liability for landfill costs

$  800,000

To record the landfill liability and expenditure for 2027
Liability for landfill costs
$5,000,000

Cash

$5,000,000

To record the payment of closure or postclosure costs
4.
If the landfill had been accounted for in the government’s general fund, then the liability would have been recorded only in the government-wide statements and the schedule of long-term liabilities. No expenditures or liability would have been recorded in the general fund, except in the last year when the $5 million in actual payments would have been due.
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1.
Reconciliation of Operating Income to Cash Provided by Operating Activities 

Reported operating income 
 $   105 

   Depreciation expense 
8,714 

   Difference between charges for services and cash 


        collected from customers
511 

  Difference between wage and salary expense and 


    cash paid to employees 
 (109)

  Difference between contractual services and supplies expense 


and cash paid to suppliers 
     1,568 

           Reported cash flow from operating activities 
 $10,789 

2.
The revenues and expenses of the fund would be eliminated in the consolidation process.  Hence the revenues would typically be eliminated and the expenses charged back to the fund to which the services were provided.

3.
The revenues and expenses, combined with those of other internal service funds would be reported in a single column, “Governmental Activities—Internal Service Funds.” This column would appear to the right of the “totals” column of the enterprise funds.  

4.
The difference would be reflected as a decrease in accounts receivable (or due from other funds).

5.
Insofar as the services were provided to units accounted for in the general fund, the charges for those services would be reflected as an expenditure in that fund’s statement of revenues, expenditures and changes in fund balance.  Insofar as they were provided to units accounted for in other funds, the charges would be reflected in the comparable statements of those other funds.  
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The matching concept — a fundamental principle of business accounting — dictates that costs intended to benefit more than one accounting period be capitalized as incurred and subsequently charged as expenses in the periods benefited. CEU expects to benefit from the rebates over an extended number of years. Therefore, it can be argued that the costs should be spread over those years.

The period over which the costs should be amortized would appear to be the useful life of the improvements, since it is over that period that the demand for electricity will be reduced. The useful life of the improvements may vary from customer to customer (depending, in part, on the expected life of their homes). Accordingly it would be necessary for the utility to make a rough estimate of useful life or select an “arbitrary” number of years as the amortization period (as companies are required to do for goodwill).

On the other hand, it can be asserted that in businesses the benefits of incurred costs are either the revenues or cost savings that they will generate. In the situation at hand, however, the benefits are negative revenues. The utility is to reduce its sales of electricity and, as a consequence, its need for added capacity. The matching concept was never intended to deal with negative benefits. Moreover the cost savings are those of not having to acquire additional capital assets — assets the useful life of which may not correspond to that of the improvements and the cost of which is, at best, elusive.

Assuming that the rebate program will be continued for several years, the difference in expense between writing-off the costs as incurred and capitalizing them and writing them off over time may not be significant. Accordingly, even if there is a theoretical argument in favor of capitalization, it may be outweighed by the loss of objectivity attributable to the difficulty of associating the rebate costs with specific benefits.

Questions for Research, Analysis and Discussion

1. Per Statement No. 34, the GASB prescribes that governments may account for an activity in an enterprise fund as long as it charges fees to external users for goods and services. They must account for an activity in an enterprise fund if the activity satisfies one of the following criteria:

· The activity is financed solely with revenue debt, as opposed to general obligation debt. Whereas general obligation debt is backed by the full faith and credit of the entire government, revenue debt is secured merely by the revenues from a specific activity.

· Laws or regulations require that the activity’s costs of providing services (including capital costs) be recovered by fees and charges rather than general purpose taxes or similar charges.
· The pricing policies of the activity establish fees and charges designed to recover its costs, including capital costs (such as depreciation or debt service).
Even though the criteria should be applied to an activity’s principal source of revenue — not to insignificant sources — they give governments a great deal of flexibility in determining whether to account for an activity in an enterprise fund.  Virtually any activity for which the government charges substantial fees can be accounted for in an enterprise fund.

Some critics of current practice contend that the rationale behind fund accounting is to provide separate accounting and control over resources that are restricted.  Therefore, they argue, activities should be accounted for in enterprise funds only when they are required to be.  Thus, they would assert, only activities that satisfy the GASB’s “must” criteria should be permitted to be accounted for in an enterprise fund.  

2. Per GASB Statement No. 33, Accounting and Financial Reporting for Nonexchange Transactions, paragraph 50, “exchange-like transactions should be accounted for in the same way as “pure” exchange transactions—that is, based on occurrence of an exchange between the reporting government and another party or parties.”  Tap fees, per the Board, is an example of an exchange-like transaction.  Therefore, the amount covering the connection costs should be reported as operating revenues, operating cash flows and program revenues.  The balance should be reported as capital contributions (capital financing activities) and capital contributions (on the statement of activities).  See also, Comprehensive Implementation Guide, Question 2.53. 
3. Statement No. 34 (paragraph 18) explicitly states that the “cost of a capital asset should include capitalized interest and ancillary charges necessary to place the asset into its intended location and condition for use.”  However, Statement No. 37, Basic Financial Statements—and Management’s Discussion and Analysis—for State and Local Governments: Omnibus (paragraph 6), replaces that provision with the following, thereby eliminating the requirement to capitalize interest. 

The cost of a capital asset should include ancillary charges necessary to place the asset into its intended location and condition for use. 

This statement, however, applies only to assets used in governmental activities.  The response to Question 7.44 in the Comprehensive Implementation Guide indicates that unless assets accounted for in enterprise funds have been financed with general obligation debt, the interest should be capitalized.  Thus, if the assets were financed with general obligation debt the interest should not be capitalized.  If they were financed with debt other than general obligation debt the interest should be capitalized.  

Question 7.45 addresses the issue of whether enterprise assets are transferred for use in governmental activities.  The interest, the response indicates, should not be removed.  The response explains:

No. The assets transferred should be reported at their depreciated historical cost (net book value). Construction-period interest is not capitalized on general governmental capital assets primarily because of the requirement in paragraph 46 of Statement 34 to report interest expense separately in the statement of activities as a period cost. Removing the capitalized interest element from the cost of the asset transferred would not affect the interest expense reported for governmental activities in the statement of activities.
4. The following points could be made in arguing that internal service funds should be done away with for purposes of external financial fund reporting (which, in effect, they have been on the government-wide statements):

· Inasmuch as the rates charged by internal service funds are established internally by the government itself, rather than by market forces, the revenues are not objective.  Therefore, not only are the revenues not objective, but so also are all other income statement and balance sheet accounts that are affected by revenues.  Worse yet, the revenues of the internal service fund are the expenditures of other funds (mainly the general fund).  Hence, both the expenditures of these funds as well as all other accounts affected by the expenditure are not objective.  Internal service funds can thereby be used to manipulate all funds with which they engage in transactions.

· Internal service funds result in duplication of reported expenses/expenditures.  Expenses are recorded first by the internal fund itself, and then again by the fund that is billed by the internal service fund.

· Internal service funds can be used to obfuscate surpluses or deficits of other funds, especially the general fund.  Inasmuch as the fund balance of an internal service fund represents the difference between all assets and all liabilities (not just short-term financial assets and short-term liabilities), it is more difficult to interpret than that of a fund that is accounted for on a modified accrual basis.

· Internal service funds can be used to record in a governmental fund depreciation and other costs that ordinarily would not be recorded in such funds.  This would be done by incorporating depreciation into the rates charged by the internal service fund.

There are, of course, sound reasons for maintaining internal service funds for external reporting purposes. Mainly, they present financial information about those funds and thereby establish accountability.  External users have as much right to know whether these funds are being operated efficiently as do insiders.
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